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i A physical quantit is related to four {.§) A photon and an °'d""" (mass m) have
' 0. observations a, b, ¢ ﬁ!u ..J.L“ . () the same cncrgf‘ E. The ratio
- C P=a'eld :4.3 @ (2 photon /electron ) ”thelr de Broglie
lh:mmmwum-mm ina. b, wavelengths is: (¢ udwdoflidl’(
. l:md“ 'x::m u.:d”‘"@;mmy & i
¥ 5 m‘y s 1 J:..
- b; X () 2% @ 13% l;r’ (1) e2mE .? ( ¢ O
e A (3 15% - 10% [ S :
™~ 3) ‘JE/M (ﬁ JV;.
¢V, ¥ The intensity of itted light when a T M $
+ /¢  polaroid sheet, two crossed . :
A‘ »  polaroids at 22.5° fromy the polarization axis | © L oroBie wave R
’ in the n Zmd‘ atom is close
a J/ of one of the polaroidids (/, is the intensity of ("V (Given Bohr radius 2 nm)
< po;.o:‘ o i~ """"nmoov, (1) 0.67 nm 1.67 nm””
Y/ ) f*’/ \ ‘
) Y (3) 2.67nm )" 0.067 nm
J - @ -.“
" <y An unpolarized light travelling in air is
L I incident on a medium index 1.73
= ! ) :
(3) 16 o f-\l’ 2 AN 4+ FAL Brewster’s angle.
(% LG Tt
: angle isc to
‘ A 2 amp current is fJowing through two
s : different small ci copper coils having (2)' bo:-hfm:lhcml g7 Br’.:'
o radii ratio 1:2. The rayo of their respective | \ Perfectly polarigad with angles of
magnetic moments will be . O/ s z
A \ G 30°, respectively. v
6 ) 12 @ 21 O ¢ 4 () rnnemitted light is completely polarized
9 G) 41 ﬂ ' v with angle of close to 30°
' (4) reflected light is cqupletely polarized and
'\'O 4 Cmmdaﬁedimflqﬂwiulobjm ﬂ:au.loof hchﬂbi@’
C oq!é»uunﬁﬂﬁ\vﬂ:ebdpof'lv;m“ir _
allipers. Suppose 10 Vernier e
6% '3, Divisions (VS.D.) are 1 its 9 Main Scale | 8 The kinetic energies mm* "
¢ « %€ Divisions (MS.D). leamt iviion in the | ) B tre 100 and A e aher 1000 "
: M. is 0.1 cm and the zero of V.S, is ' mm”
o, x*OlmﬁhhdeM e _ :
/‘O are closed. &

. /¢o uu-ﬁuuﬁ.ﬁrhm

M = 5 cm and the number of coincidin

< wemier division is 8, the ‘diam

afier zero ermor comection, is

() So8cm a) m-
P ¢ !ﬂn‘/
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A wire ol re
sistance R |."u‘ into 8 equ |
"HLL(\ }[\:i“ lhg‘ 4 L | ia
resistan s¢ piecps two equivalent
(YR LTS alt 3 '
somsther & - by alling four of these
z.h:k l' - allel. Then'llese two sets arc
o I ser ‘
jes. The net effédtive resistance of

™

the combination s

& v '--o-j
AL T (2) - /
1) ,,/h‘;\
¥ v
i R \
bl ) & k//)

An oxygen cylinder of x;blbmc 30 litre has
5 ¥

18.20 moles of oxygen Aflgr some oxygen "
withdrawn from the cybipder. its gauge
pressure drops 10 11 atmospheric pressure at
temperature 27°C. The mats of the oxygen
withdrawn from the €3 lindérts nearly equal 0!

100
[Given, R = 3 7 mol- 'K, and

molecular mass of 0y = SF.‘
| atm pressurc - 1.01 > Of Nim]
(1) D144 kg (2) DJI16 kg
(3) 0.156 kg 4) :é;lzs kg

Ve
era. a combination of four
similar thin convex enses'ife arranged axially
in contact. Then the power of the combination
and the total magnification in comparison 10
the power () and mglilﬁlion (m) for each
.VC|)‘ ﬁ

(2) dg and m’

(4) gmdlm ?

in & cernain cam

jens will be,
(1) p*and dm
(3) p* and o’

v
wisapmofmdoawﬂlil(mﬂm)
mpwaalialdn =, at the

Maxmlli-ZAmdu g

4

A

13

14

15

3 e
I

A |'Hd) '.'\('IE'I‘. 48 N on the surlace ol the

¢ gyperient ed by

carth. The gravitational for
| 10

the carth ol a height equa
the ‘¢arth from 118

o

the body due 0
one-third the radius of

surface I8
(1) 27N () 32 N
(3) 36N (4) 16N

A full wave rectifier circuit with diodes (Dy)

and (D,) is shown in the figurd if input supply
voltage V;, = 220sin (100 )/ volt, then at

{ = 15 msec

\L!

. D " *
i
v
VI:S'I
Dz i% RI,

Y

is reverse biased. Dy s forward biased
and D, both are forward biased
are reverse biased

(1) Dy

2 Dy

(3) Dy and D; both

(4) D, is forward biased,.P; is reve
biased

Xand Y mconnt&d by a regular
e with a bus leaying in cither
T min. A girl is.driving scooty
km/h in thé direction X 10
Y notices that a bas goes past her every
30minuleiinlhedkmionof’, motion, and
every 10 minutes in the oppasite direction.

Choose the comrect option for the period T of
the bus service and the speed (assumed

constant) of the busés. %
() 25 min, 100 kmh ~~
() 10 min, 90 kmvh

(3) 15 min, 120 km/h
(4) 9 min, 40 km/h

rsc

Two cities
bus servic
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16 The Sun rotates around its centre m, in| 19 An elccuic dipole with dipole moment
27 days. What Il be the period of revolution § % 107° Cm is aligned with the direction of a
oo Sxpand to twice its present uniform  ¢ffetric ficld of magnitude
R e o i [+ 10 NCOe ke e g
B 3 w(y
. (n oS days o, (@) 115 days “md@‘wm‘m“’“m
U 4/ dipoleis: &
l} mmwh-mw (n 1.0J i @ 12
@ . hF Ay 3) 157 @) 08 @
/B = 6008 xS 10%0W /m. < .
Then expres for the corresponding =
magnetic field ﬂmenluu'i'ndmotethe 20 A mic an objective of focal length
direction of 2cm, of focal length 4 cm and the
L 9 tube length of40 cm. If the distance of distinet
(1) B, =2x1 Sx+1.5x10° T
dm - -l el 4 vi.sonofeyo.u 25 cm, the magnification in the
(2) B, =60c0s (Sx +1.5x10°)T S ’0" * @
(3) B, =6088 (Sx+1.5x10°)7 € e (2) m,_
™ (3) 250 @ 100 7 ./
4) 8,.-2ug7ou($x+l.$xl09l)1‘ /;‘ i A -
h A 5
18 Two identi conducting spheres
A and B ha ir centres separated by a
certain distance. Charge on cach sphere is q . 1
and the force of repulsion between them is F, S
A third i unchanged conducting sphere .
is brought in pontact with sphere A first and 4c
then with B &89 finally removed from both.
New force of between spheres Aand | B C
B (Radii of A nnwm
1o the di of separation so that fc
Mmh”hlqm '
m-ﬂhdﬂbm
-
zF - ] )
i 3
W
i
“_Eagleh |
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m rod of mass 20 kg and "”E”‘ §m
igainst a smooth vertical wall making ar
F OUF with it, Thetother end rests on a
rontal floor. T™he friction force that

exerns on the l‘\“\ll.‘lkcg 10 m/s*)

WYIN (2) 200 N

100N

M WIN “'

Ihe current passing through the battery in the

given circuit, Is

1.5

‘.’
(1) 054 (:.’.)4 254
(3) 154 (49:::2.0/4
i

A model for qumnmdnodon of an electron
iform magnetic ficld B states that the
ne . the orbit of the electron

sassing through o ,
lux 'l": ) whers # is "lcw, h !u leck's
“"M‘d(liw itude of electron's
‘:,,, Acconding 10 the model, the magnetic
" its lowest energy

_ment Of 89
(.uu*dwmb

will be

state ”’:ﬂ
e 1

n 2 f
-l 4) -

™ Jem -

s represent the
Which of the following opltions represct
variation of pholoe)ex tric current with property

of light shown on the xa@xis/

Photoelectric
current

A
_—
Intensity of light /
I

‘s

£ 4

25 0 g

2 5 o= )
B % 0

f ppe———

(=

: 7
Intensity oflight

N
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An clectron (mass 9%10)! kg and chas
16510 '%C) moving with speed ¢/100
(¢ = speed of light) is injected into a magnetic

field # of magnitude 9% 10 T perpendicular
to s direction of motion. We wish to apply an

uniform Blectric field £ together with the
magnetiy, field so that the electron does not
aﬂ:\tla\vm t'l;s path. Then (speed of light
€ =% ms

v
v

?

M E s perpendicular to 2 ond
s is 27102V m-!

= 3 —

E is parallel 1o # and

its magnitude is 27>102 V m-!
. - r
£ W paraliel 1o B and

iis magnitude is 27~l0‘Vm“'\/

-
£ 38 perpendicular to 8 and
ity itude is 27>10* V !

Considef 8 water tank shown in the figure.
It has one wall at x = L and can be taken
to be Very wide in the z direction.
When filled with a liquid of surface tension S
and density P, the liquid surface makes angle
508, <xd) with the x-axis at x = L. If }(x) is
the height of the surface then the equation for
Mx) s v

y 4%

3 2
T

)

W b

/
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A pipe open at both ends has a fundamental
frequency / in air. The pipe is now dipped
vertically in & water drum o half of its length,
The fundamental frequency of the air column
ismwﬂl‘”;“’:

~ L4

m f (2) o’y
faN § v
O VA

O 1f o4 @

A parallel plate capacitor made of circular
plates is being charged such that the surface
charge density on its plates is increasing at a
constant ratg with time. The magnetic field
arising duete displacement current is :
(1) constdiit between the plates and zero
(2) non-zerq everywhere with maximu
the imgaginary cylindrical

7
s 4
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A ¢constant vi
\; th vousge of 50 is maintained
¢¢h the p
r~ Points A and B of the circuit
nhe e
© figure. The current through the |

beanch CL) of the circult is

VWY

w{;‘
SOV \i¥ D
r\ \
x| -
(1) 204 < Q) 254 '5/
3) 304 © ) 154 b
"

me () and position
rticle is given by
the particle is 4

N :
In some approppeate units. u
(x) relation ofsa moving pa
v 4+ x, Thé\liveeleration of

1
¢ ™~ 2
- .___‘_:_*; L —
{1) (2‘1,4_')». (—) (X*‘l)
A
~ : 2
(3) + 2x+]m 4) (X+2)3 g_/
N /
O
Two gases 4 Thd B are filled at the same
pressure in u&'ﬂu cylinders with movable
prstons of radius 74 and 7g, respectively, On
suppl i mcqunlunom!ofbwwbolhuw
)m ibly under constant pressure, the

\
¥ vertically so that the average freq

7

v

in an oscillating spring mass system, & spring
wx filled with sand. A$ the

is connected 10 8 b
of the box

box oscillates, sand leaks slowly out
wency ©(/)
of the system

and average amplitude A7)
the following

change with tigg /. Which one of

options schematically depicts these changes
correctly?
e
«7 o[\
B f
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O b
L/
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R ‘R
Q a .
P &7
S .
4 7 :3 7
Ul *U\(l)z)a 3(2)5‘/
;7/’ 7 iy
‘“ (3 — W -
b’ “ % S

A sphere of radius R is out from a larger solid
sphere of radius 2R as shown in the figure. The
ratio of the moment of inertia of the smaller
iphenwmnol"namoﬁhew

The plates of a paralle]l plate capacitor are
scparated by d. Two slabs of different dielectric

- 3 d
constant K, and Kyawith thickness ;d and =,

respectively are i in the capacitor. Due
10 this, the becomes two times
larger than when is nothing between the
g o (4

lf&,-!”l,“vﬁcofxlis: c1
(1) 233 » ™2 160 X
(3) 133

“) 266 y voft i

There are two
(L) and same
horzonal. One
s perfoctly

y ‘E'g':,: w :

Ahtrln-fhuvymnumismspamdby.lu
string of length /. The bob is given a horizongg,
velocity v, as shown in figure. If the String gess
slack at some point /* making an 0 from
the horizontal, the ratio of the spdéll v of the
bobnpoiml’wiuhuudwah:

1161
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A T . . T .

40 10 an ¢ power
of
Supply of 220 V at S0 Hz, a

esistor of 20Q)
aid » & capacitor of reactance 2302
ne an In "
aneted SUSHRY of resctance 430 are |
connected in seri |
n the circuit % The corresponding current |
a
current and Md‘c phase angle between the
the 'Olugc is, mm“\Cl) é ’\

|
|
_5

(1) 78A and &9 |
: ¥ 4

(2) 156A and 4 P\
li' "'ﬁAa"d“n Ly //
(4) 7.8 A and 30° Q

round the Sun is
of the orbit of
87 Earth days.
he length of

4 The radius of Mﬁian orbit a
about 4 times the radius
Mercury. The Maggian year is 6
Then which of th® following is ¢

| year on Mercury 7
(1) 225 carth dgys
(2) 172 carth deys @ W
(3) 124 carth days ¢ ok
(4) 88 carth days
&£ A balloon is m{é: of a material of surface
ronsion S and its geflation outlet (from where
gas is filled in iy-has small area A. It is filled
with & gas of p and takes 8 spherical
of radius R:Whm the gas is allowed t0
flow fireely out of it, its radius r changes from
in time 7. If the speed W(r) of gas
fd)cbllloondcpmdsonrasr‘"

GLR® then

—

coming ou! ©
and r e 5eAP

n
@

(8]

i ‘”%,pn |_,y<a.|_.5a.’.

>t ‘ZOW""“J
o AY / 4
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4
A particle of mass m Is moving
origin with a constant force / pulling "
3ohy model is used 10
th orbit

around the

towards the origin. If |
describe its motion, the radigs r of the 77

and the particle’s speed v # the orbit depend
onnas
,
(2) "1"2/}; y o n"-‘ c;,
(3 remd; v 18 (/:) /
0, /O \
e ‘l “
@) ren’3; y e nl/3ed \1\4/
" Peteyy
2 {
4
Two identical point masses P and Q, suspended

separate massless springs of spring

from two
ely, oscillate

constants k, and k&, resgctiv
vertically. If their maxinfim speeds arc the

same, the ratio (AQ/AP) @he amplitude A
of mass Q to the amplitudwi,ofmass P is:
Ww

o5 4

k
M & ”
s
: - &f.°//
/
(3)\/;;' ;] @% %
N
w

A ball of mass 0.5 kg is drgpped from a height
of 40 m. The ball hits theiground and nises
to a height of 10 m. The ﬁauh: imparted to
the ball during its collision with the ground is /

(Take g = 9.8 m/s?)

(1) 7NS 2) 0
“NS 4) 2 ,
oz " ANS (O

" 4 Fo“,
® i/
©

| Contd.... &

y WO\
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v <
Ciiven below are tw emonts | :
Statement | : Forrg ism is considered
as an oxtreme form ism, -

Statement 11 : Theynumber of unpaired
electrons in a CrF" igh (Z = 24) is the same
as that of 3 Nd'* ion(Z = 60).

In the light of the abowd statements, choose the
cnrrect answer from the options given below:
(1) Both Swaterment | and Statement 11

arc falwc o

(2) Sustement | s tie but Statement 11
is false ™M

(3) Wlismebm&lmmll
l!m

(4) Bothlnaneu Su:ummtll 6'0
are true e

™
For the reaction ‘A’(g)g-_hzgu). the
backward reaction rate constant is higher than

mcfwwmaﬁmaemmbyaﬁctor._/

of 2500, at 1000 K.

[Given : R = 0.0831 1. atm mol~! K-!)

K, for the reaction 000 K is

(1) "077!!0-"} ) 0.033

(3) o021 » ) 83.1
0

Total number of possible isomers (both

structural as well as swbreoisomers) of cyclic

cthers of molecular formula C,HgO is :

(1) 8 @) 10

3 n ) 6
-

_ e
.

T
C P £
e MY
§ Y ’
;
‘

@ @

v

® . ]

Identify the suitable reagent fuﬂn following
conversion,

O*ocu,—o Gc"&@ v/

(1) () AIH(iBu), (i) H,0
(2) (i) NaBH,, (ii) H'/H,0 -

3)

H,/ Pd-BaSO, X

(4) (i) LiAlH, (i) H‘ll-lzo

'memajorgdunoﬁhefol
40)\,\“

(excess)

%
() H,0* = ‘$/




&4 Which o
0 Oone Of !h(‘ follo
\(" helone Hopngng reaciions does L6
i U l .'l\\|.,_,‘e |
aighe’s test
nich
a+s —s Nl |\ |
R ‘:;;
Na ¢ i N |
A \'*“\':1,\'\' /
s v. |
U0 +( \,,,2(:”‘,(():®
(4 .4
) Na+C+N = < » NaCN /
g &
4 The correct order of decpegsing acidity of the
Mlm\m, 3] h : ' A& .
g aliphatic mld\: i £ 57
(1) CHLCOOH > (CHyl@HCOOH > N7
(CH,),CCOOH > HEOOH p(u‘/
(2) HCOOH > CH,CODH >
(CH,),CHCOOH > (CH,),CCOOH
(3) HOOOH -((‘lltbigg.”()()ll > \)/
(CH,),CHCOOH $€H,COOH
(8) (CH,);COO0H > ((‘,i_.‘):('li('()ml >
(‘H;('()()H ., HCOPH
™ 7\
§o. o
55 Match List | with List Ili
List | " List 11
(Name of (Deficiency
L)
Vitamin) pdiseasc)
; rseilosi
A, Vitamin B2 I n}‘hctlosn.s
B. vitamin D ll.ufunvulswns
c. Viwmin B; i Rickets
p. Viamio Bg lv.;‘fcmicious anaemia
(vwwwrnﬂansmﬁumunopliom /
. von below "
1y A4V, BlL DAl "(
@ M gL, C-, D-1v
n AV g, C-Il, D-
4) M p-n, C-A. DAV
O
« Eaghih | i
! e
¢~ €

T

Out of the following ('ﬂmpl('x le'llpleIK"
will be having the

which of the compoutid
minimum conduclance 43 solution §

(1) | Co(NH3),Cla @ ~//,'~
J )

@ [co(vHs);Jch (@)
[ . -
3) [Co(NH;); CIC! ),

A

) [('nf\H;h('l;;
% _ @

Sugar ‘X’ " o/
. ot v
A, is found in honey. ¢ @ @
B. is a keto sugar. r

exists in & and p

o,

?

. anomeric forms

(of

D. is lacvorotatory. g

X'is: -

(1 D—Fructosc\/ (%—i:; Maltose

(3) Sucrose (4p D-Glucose
o

How many products (inefuding stereoisomers)
siibchlorination of the

are expected from m
following com 2 Fr‘ 2 e
< 0
H3C .
/CH‘ CH; ‘Ci{;)
HiC g
s
M 3 (%‘5 hd /LU»’L 4
(3) 6 (42 = <
- b
Which one of the following compounds can
exist as cis-trans isomers’

(H 2-Methylhex-2-ene
@) 1,1-Dimethyleyclopropanc
() 1.2-Dimethylcyclobexane | /

(4) Pent-1-ene
lCndc

c
v i
@ C\ C/ L’
-

A

"

®

-
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Ve s

& Which one of the following reactions does

NOT give b the product ?
™

(1) \ﬁx\—%&&——w.,_ i
4

& ¥ ot 1ron Tube

(2) HOosC.H AR

, o O

o ma @2
momxummmmp.wim
K.'. K‘z and &3. respectively, 2
while K is the ovyepll ionization constant.
Which of the folipbing statements are true?

o
A th-lo.S*lo;K.z-blogK.J e

vt
Q
r~
\O
'-‘

61

B. H3PO, is a'ann.r acid than H,PO}
and HPO;™.

oy

-
c K, >k, >
P
~
e

\°"Wﬁ

by O
© v
v

62 Among the following, choose the ones wig
equal number of atoms,

A. 2I2¢of¥b,C0;(l)lmohrm-loog]
B. 248;0!3:.(0)1010&“-62‘]
C. 240 gof (5) [molar mass = 40 g]
D. 12gofH [MM'Z',

E. 220 g of COy(g) [molar mass = 44 g]
Choose the answer from the options
given below :

(1) A.B. only <« 7"
2) B.C.:ﬂonly\f w‘%’
(3) B, D, andH only s

(4) A, B, and@ only
1 v
¥
Given below ard two statements :
Statement I : ﬂe““ﬂﬁ-
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!
- - "N
\'." el
1,
inamibe ethanaming
wianiline & benzenamine
NAMIn ett@namine
nethvianilr } p
laniline *N-ethvilethanamine fl/,
. .,"."‘(l - :
¢ laniline ¥ benzenamine \—f(
cthanami "
anamine > N-gthylcthanamine o
Vhich of t
¥ o the following statemd nts are true? 69
J )
. ¥ { '] | \
) Unlike Ga that has a ver) high melting
o
‘ -
point, Cs has a VB low melting point
B. On Pauling scalg, the clectronegativity

values of N and 1 are m‘l the same.

A AL K, (
jectron \p((q(\
ect ordéof the first ioniza

of Na Vg, Al, and
Al >Mg” Na
i 'he atomic radius of Cs is greater than
fLiand Rb
rrect answer from the

(1) Candl uﬂl)./

) C and D onh g
3) A,C,andl onl¥™”.?
4) A B andE only4»

Caipand §2- are all y
v

180K

tion

v

D [he cort
enthalpics

S1 18 D1

thal «
options

‘
v

Q/ff

(Choose the €0

given below

| with L»l -1

©

70

®

Match List -
l,-l‘b'l'l Ll“ A1

A, XeOg ] >p’d fincar
B. Xefs w sp’ pyramidal
c. XeOFs M. sp sp’d”; distorted

") octahedral

o pyramuhl
( ’ll" (hf w'“‘ :W fm lhﬂ Ww
grven puc b /
1) Al B A, oY
2) AAY: 1, € An, D
n AV y, C- p-n
(4} AL b C-AV. PN

13

-
X
I ’ { formatiol
k I B
( la stion ol
] 24D KCa
indard | { cri'tt il 4
BadU,(s) .5 Ked tandard { ol
formati f BaSOgp) 19 k |
(1) 133.0 (
(3) Y90 § [l‘ _,\“/
y

ounds I-111, the corre i

Among the given comp
f C~H bon .'

n[tl(‘r of hnnd d;;;. sciation energy

marked with * is

/.H \/

H of
1 4

* £

a*©
é / } V”
DN ~H

I 1 11}
o v

(2) m=>1I > |

(4) 1>1 > [11 /

Predict the major Mdu«.t «p’ in the following
sequence of rcacnons -

(1) 1>1>1
@) n>m>1
/4

® l{k penzoy| peroxide
lu)m p
(i) NafHgYCHs e TCHOH  (Maor
0 o~
CH, ¢+ ‘/ c\ \i
e A
=
(‘H‘ “T 1L ( ~
(2) e Bl 7N
" 27 3)
NC > &-/
@ O/’ CH, 3‘
w .
' AC
CH, 4
)
CH NN, \/

| Contd...
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Match List - 1 with List - 11
List-1
A. Haber process I
B.  Wacker oxidation 1.
C. Wilkinsomastalyst II1.
D. Ziegler eﬁy- IV. TiCl, with
e ANCH,),

: 4
Choose the cogpect answer from the options
given below @ oy

(1) A-L BaLta, pav
(2) A<, BAL C4IL Dav X
(3) A-l. B-IVe@-I1, DI
— \

@ A Bagav.pan X

o~

w0
Encrgy and radigs of first Bohr orbit of
He* and Li2* &R
[Given Ry, = 218 * 10-18, a, = 52.9 pm]
(1) E L") =-8.72x107'8);

r(Li*") =@6.4 pm @

E (He") 1»':',19.62-: 1048 J;/ 7
ri(He’) ={{3.6 pm
E (Li?) v419.62x107¢J;
r,(Li*") = 17.6 pm
E (He") i3 72x10'3;
r(He") = 26.4 pm
E L") $28.72x10710); Q,v
r.(l.l"") =17.6 pm

List-11

Fe catalyst
PdCl,
[(PPhy);RhC1]

J

3)

E (He") q.lO&xlO"":;/
rfHe") "a-.‘ p-
0P Fhiea-10 s
L) = 176 pm
£ He") = 87210718

i4)

73

74

& ®

r fHe") = 26.4 pm

Given below are two statements : ope is
labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : _~_~"I undergoes S\2
reaction fastgrgthan -\ _~_(CI.

Reason (R) ine is a better leaving group
because of it¥large size. -

In the light o lbove!h!mchooulln
correct ﬁ““"kouionslivmbelow:
(1) Both Aapd R are true but R is not the
correct explanation of A

A is tru&But R is false

A is false but R is true

Both A and R are true and R is the correct
exphnd'!'lcfA

(2)
(3)
4)

™M
If the half-lif(t, ) for a first order reaction
is 1 minute, ##én the time required for 99.9%
completion reaction is closest to :

(1) 4 minutgsy (2) 5 minutes )0

e xe %
Which of thegollowing aqueous solution will
exhibit highest boiling point?
(1) 0.01M RNO, 1
@ oomiso, @ [ “Z

(3) 0.015M-€.H,,0, ¥

(4) o.oml'_gn @,’/

L}
Higher yield of NO in



80 Identify the correct orders against the property

™ Maich List | with List 11
List I List 11 mentioned
(lon) = A. H;0 > NH, > CHCI, - dipole moment
R B. XeF; > XeO; > XeF; — number of lone
in Cation Analysis) pairs on central atom
A ("3‘ I. Group-l C. O-H > C-H > N-O - bond length
B. 1. Group-li D. N> 0, >ﬁ, ~ bond enthalpy
m. Group-lV Choose the coreet answer from the options
il N0 Vi given below : €y
' Ae boi e ] () B.I’)nnlym (2) A, C only
Choose«the correct answer from the options (3) B,Conlyly (4) A.D only
given Below v~
(1) AL, B4V, C1. D1 ¥ v/ 81  Match List I wiil List 11
@ Ag.BaLCIV,DA T List I List 11
(3) ASM, BAL C4. DIV J (Mixture) _ (Method of
/@) Add.Bav.CaLDa ¥® ~ Separation)
O A. CHCl, + ﬂ') . Distillation
78 The ragp of the wavelengths of the light Cé"ﬁ”“!\o under reduced
absorbedl by a Hydrogen atom when it _ ﬁP i
n=2 sn=3andn=4 > n=6 B. Crude oil II. Steam
trladﬁtns. mqecuvdy is petroleum _y distillation
industry

Y :
m / (2) .6 7\ /3 C. Glycerolﬁw‘l. Ill. Fractional
spent-lye p distillation

@/h D. Aniline-\mer IV. Simple
distillation v

® G
/ﬁ v Cboooeﬂweonﬂlnswerfmmﬂ\eop(mns
AN given below : 0 o+ ')px
7 The comeet onder of the wavelength of light (1) AV, a-uct;-u. D-I " /
sbsorbed by the following complexes is, 2) A-llL, B-1V, C-1, D-II b
(3) A-llL, B-1V, C-1I, D-I

~ .
A [cﬂu;).]’* B. [CO(CN).T 4) A-IV, B-llﬁi-l. D-ll
™M

O
1 o el
C. D. | Ti(H 82 If the rate of a reaction is 0.03 5!,
[Cvlo,‘r [ 10,‘], how much it take for 7.2 mol Lt
(ﬁ*“mﬁunhoﬂm w feactant to get reduced to
. oéimoll. 7T
(1) B<A<D<C (@) C<D<A<B :n“;:z-f l()2) 2
10s A |
() C<A<D<B ) B<D<A<C o) 2103, (4) 593.

“ Kaghieh | @ p, @ @ & m-n-
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46 _Fagheh | \

v/,(‘

Which among the following electronic
conligurations belong 1o main group elements”?

A. [Nelds! B. [Ar3d’as® Y
- 9

C [Krpudf3ssp® .

] mn]&r&’ 7s2

Choose

tnswer from the option
given below.g
(1) A and Clonly

v
(2) D and E only @

(3) A, C and D only v J
(4) B and Bgonly

r‘\
Match List n with List - 11
List-l \© List-11
(Etn%) (Type of Solution)
Humidiey I.  Solid in solid
Alloys ™4 Il. Liquid in gas
Amalgams Ill. Solid in gas
Smoke IV. Liquid in solid
Choose the answer from the options
grven B
(1) A-lL B4 CAV, D-INI
(2) A-llL, B, CAV, D-II
(3) A-l, @yl C-1, DIV
(4) A-l, B;‘ﬁl C-1, D-1ll

[Ar)3d'%4s'
o~

eSNw>

5 o) %
S moles of liguid X and 10 moles of liquid Y
make a solugion having a vapour pressure of

70 1orr. The'vapour pressures of pure X and Y
arc 63 torr §iid 78 torr respectively. Which of

m%smmmm
o
m nnnun-m-wwm
2) The is ideal. )o
m The has volume greater than the
sum of individual volumes.
(4) The solution shows deviation.

/

\“"4; »,

o el j
(© ® 0O |

C(s) + 2H(8) —» CHg); AH=-74.8 kJ mot-!
Which of the following diagrams gives an

of the above reaction?
[R — reactants; P wml




} : ) : )1 &
b r "
- xm:hﬁl*m
g "s“:ﬁﬂ,';m'
@ i aFe, erlined clements
1y *2 - and
@ L -Lendes ')'1'
s w‘,-‘.d.‘ 0 "l &
4y 1, =1, and +6 3 ')'*,A
v
@ Coven below are two statements -

statement | : Benzenediazonium salt is

prepared by the aniline with nitrous
acid st 273 - 278 K. casily in

g
91, Match List - | with List - 1l
List - 1 List - 11
A. Progesterone I Plrs intermedia
B. Relaxin il Qyary -
C. Melanocyte 111, Adrenal
2" 9 gimulating hormone Ia v
’ “."D. Catecholamines Iv. grpu& juteum
- rcmmmmw«wthc options

v o given below :

(1) A<V, B-II, €111, D1 ¥ |
@) AL, BV, C-1, D-11I 3
(3) Al B-lL, C-IV. DI ’

(4) A-IV, B-ll, C-1. D-lI Jg 5‘7{ 0" /

e
The blue and white selectable-tharkers have
been developed which Wifferentiate
recombinant colonies from inant
colonhlondnhsisofﬁci’ahihylo;mmce
colour in the presence of a chromogenic
substrate.
Given below are two statemghts about this -
method: ™
Statement | : The blue colourédicolonies have
DNA insert in the plasm they are
identified as recombinant
Statement 11 : The coloniagwithout bluc
Mmmmuuﬁmﬁmﬂ
identified as recombinant colonics. v
bﬁﬂﬂdhmwmm

!

e e

<

| Contd...
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Ciiven below are two statements : One is
fabelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Cells of the tapetum possess
Jfﬁur‘_(‘\_!g*wn and generally have more than
O TR " w e i
Reason (R)ePresence of more than one nucleus
in the increases the elﬁ’&ency of
nourishs developing microspore mother
cells R Py
In light o
most
given below :

(1) Both A and R are true but R is NOT the

correct explanation of A v,
.r?ﬁ'././a

(2) Ais but R is false
(3) Ais but R is true !

R are true and R is the correct
explangion of A
Lo |

M

above statements, choose the
te answer from the options

(4) Both

Maich
List

A. Peridophyte ;

B. Bryophyte . Ginkgo

C. Angidiherm ‘/:u. Polytrichum.

D. IV. Saivinia

Choose ion with all correct matches.

(1) AAV.BHIL C-4, D-1 &

A2) ALV, C1, DAl o @

e

with List IL.
List 11
Salvia

(3) AV, C1, D >

Match List - I with List - 1L
List - &g
A. Hean ™~ |

e ' 1l. Aldosterone

et '

factor
D AdeoniDConex

List - 11

IV. Secretin r
e th borrect answer from the options
oven bebola’

(1) AV, B0, C-1, D-)

23 A BN, CAV, Dl N

(9 Al B4, CAV, D) \/

?

4 AL B CAN, DAY

97

Who proposed that the genetic code for amip,

acids should be made up of three nucleotidey?

(1) Francis Crick -~ d
>

4 Girho /;

(4) George :_; "'/ f.&_;

(2) Jacque Momod \/
(3) Franklin §iahl 20 %0
Which of thgfollowing is the unit of

productivity of an Ecosystem?

2 v W \/
(1) KCal m ?,‘,? 7
(2) KCal mwr” @
3 (KCalm—ﬁ-r' M < cod

-2 N

52 )O\D &_v’/"‘:’b

o T

Which of the ﬁlowingisnnmlcof;
zygomorphic flower?

(1) Datura?® @ Pa P vl
() Chilli < (&) Pewmia 3
© w z4'
Mau:hl.htlahl.hlll: Yz |
List1 4 List 11
A. TheEvllw Cryopreservation
B. Exsim "0 I Alien species
C. Lantana : 111. Causes of
i biodiversity
D. Dodo e—gy— IV. Extinction
Choo.uuqa.wud maiches.

(1) A, B-1, C-1L, DAV
) A, By, -1, D

) A-lL, B11, CAV, D

) A, gy, o4, mX




L

e

}nﬁm /
1 AB, C only (2) E A B only
(hy C.D.Eonly (4) B .C Donly

& Faglish |

given below : N
') Both statement | and"“$tatement 11
are incorrect ngr.
(2) Statement | is corregtibut statement 11
is incorrect i
(3) Statement | is incorrect but statement 11
18 correct
(4) Both statement | Wt |
are correct r~
m
) The protein portion of n@nzymt is called :
(1) Coenzyme Y
(2) Apocnzyme T oM
(3) Prosthetic group 0 Cpﬁ
(4) Cofactor " AT

-‘ ‘ ' ¥ -
l

\ G

en below are fwo statements
statement | : In ecosystem, there is
adirectional Now of energy of sun from
sevnduc s 10 CONSUMers. \/
sastemont 11 : Box
e cosystems are exempted from
r s T!\\ of w’
in the light of the above sistements, choose the
most appropriate answét from the options

T'wins are bom 10 a familygthat lives next door

10 you. The twins are 8 and a girl. Which

of the following must ?

(1) They arc fraternal

(2) They were conceived through in vitro
fertilization. i e

(3} They have 75% i genetic content,

(4) They are ygolic twins.

Afler maturation, in primagy lymphoid organs,
the t,mwﬁmm with
sntigrns o secondary #phmd organ(s) /

tinnuet 3} bike
A thymes o B mamow ¥
C spleen 7 D \lymph nodes N

£ Peyer's paichesy ™
Choose the correel el from the options

104 In frog. the Renal portal system is & special

108

106

venous connection that acts to link
(1) Liver and kidney /
(2) Kidney and intestine 3%
(3) Kidney and '0‘5_? part of bogdy

(4) Liver and intesfu )o

s @

Which of the folloWMg enzyme(s) are NOT
essential for gene cloring? e
Restriction enziun
DNA ligase

DNA mutase

DNA recombinase \P
. DNA polymerase
Choose the correct

given below :

(1) A and B only

(2) D and E only

(3) B and C only

(4) C and D only

o>

L,

from the options

pedigree, find out the

With the help of gi
of a child having no

probability for the

disease and being agarrier (has the discase
mutation in one alléle of the gene) in F,

generation.

1161




107 Which one of the following is the characteristic

teature of gymnosperms?

(1) Seods are naked. v’
(2) Seeds are absent. X

Y (nmrq:gahw lkwa:nfor

{4) Seedsm“losedmﬁ'mu 70

108 The first memu'm is called :
(1) Menarche (2) Diapause

(3) Owulation (4) Menopause
109 In bryophytes, the gemmae help in which one

of the following®¢ -~ e

(1) Asexual 7

(2) Nutrient r

(3) Gascous exdiange r G\')j

(4) Sexual m@m & ok

How many w mitotic divisions need

to occur for the development of a mature

female gametophyte from the megaspore

mother cell in an angiosperm plant? - patients?
(1) 1 Meiosis 88d 2 Mitosis =~ ’l/‘ ‘«5\(1) ltwill‘diME
@) lMsﬁuva t‘@ Wz @
(3) No Meiosiggnd 2 Mitosis g; R ""'"":ih
(4) 2 Meciosis Wild 3 Mitosis “9“) H u-nzn ,
i : P
O c responsg
@ Rolcof:bcwﬂvucuhrcymln "1“ :
'MM byl 115 Which ou'ifu.. ol
Respiration and Locomotion represents the Verhy

C Cmimoffnod

D Digestion gag Respiration

. Digestion and Excretion : 9
(W&%”MQW
) A-IC(& ‘/ @
€25 .ﬂcu .

() B.DwdEOnly P
4y A“.M r

46§ aglih |

o

112 Read the following statements on plant growg,
and development.

A. Parthenocarpy can be induced by auxing

B. Plant growth regulators can be involved

in prorﬂlion as well as inhibition of

growth £

Dediffeggntiation is a pre-requisite for
re-differgptiation.
Abscisie-dcid is a plant growth promoter,
Apical définance promotes the growth of
lateral 3
Choose the option with all correct 1
(1) A.C.EonlyX (2) A, D, a.,...,ﬂ

(3) B,D,E on (4) A»B.ley “
Whichofmuowin.typtoth

C.

D.
B.

113

present at t@ time of birth and is a
specific defence in the human &
(1) Innate

(2) Cel Immunity *

(3) Humoraljmmunity [
4) Acqlmdﬁmuﬂy r

Whycan'tmsulmbeﬁvuunly»



120 Identify the umm‘(hn is NOT corredt
¢ held

(1) The heavy and light chains af
N

together by disylfide bonds. »

(2) Antigen hind& gite is located ai
C-terminal ltgi“()fdﬂibod) molecules

'—4

(3) Constant regionof heavy and light chains

are located at C-terminus of antibody

molecules. -
Each antibody l"“wvo light and two heavy

chains. %
*A/

'-1
Given below are lﬁ statements * onc 1§
Iabelledumﬂ“(A)-ndthe other is
labelled as Reason (R). X
Assertion (A) : i function of the
Oold.pp-mmis the materials -
made by mﬂk reticulum and
deliver it to -.m-ndomsyme
cell. <

-
Reason (R) : Vesicle$ containing matenials
nﬁbymmh-kmhnnumm
haktuof&cﬁol.iwmdm
UDWMU#M&M&:

L

)

N\g

J*Oﬂduul.“

In the light of the abdu statoments. choose the

(1) Both A and R rue but R is mot the
correct of A J&t

(2) A is true but R is false )ﬂ i

() A s false but R s true (4

4) Both A and R arv true and R s the core
explanation 1 A

| Contd..
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123

1i4

C omander the ollowing -

A The reductivg division for the human
female —vxpmis starts earlier than

that of the maje gametogenesis. o~

B The gap en the first meiotic division
and the meiotic division is much
shorter for

compared to females.
€. The first polesbody is associated with the
formation of the primary oocyte.
lmmmg Hormone (LLH) surge leads to
disimegration of the endometrium and
onset of bleeding.

Choose the

given below : gy
(1) AandC arc'itie v~
(2) Band D

(3) B and C arcampe
(4) A and B arc¥be

1

0

v

Match List T with List II :
List 1 g
Scutellum ¢ L

v
NOI\-I.M'I&S
seed W
C. Epiblast "‘:
D. Perisperm

List 11
Persistent
nucellus
Cotyledon of
Monocot seed
i1l. Groundnut
IV. Rudimentary

cotyledon
Choose the opti ith all correct maiches.
(1) AV, B-ALGH. D1 ~
A4V, 8L, D
Al BV, D-1
AL B-IL GV, D-

e

What s the main Tunction of the spindle fibers
Suarung emtaoses
(11 To symthosise new DNA »
(2) To repaic damaged DNA
(51 To mgulste coll growth 5
4 !ommﬁ'MJ

A.

B 1L

2
i35
i4;

4% Faghek |

answer from the omions\,

1
7
P

128

126

N\

127

- -

v .

Which of tﬂ following statements aboy,
RuBisCO is grpe?
(1) It has ligher affinity for oxygen thap,
carbon ﬂxidc. P
It is an enkyme involved in the photoly
of watef"
It catal the carboxylation of RuBp
it is active only in the dark.

7

(2)

A3) v
(4)

Given belowgare two statements :

Statement If» The DNA fragments extracted
from gel el@trophoresis can be used in =
constructiondf recombinant DNA, +—

Statement ¥} Smaller size DNA fragments

are observed anode while larger fragments
are found the wells in an agarose gel. ./~
In the light o above stateménts, choose the

most appropriate answer from the options
given below : :
(1) Both statement | and statement [
(2) I is correct but statement I
3) :

(4)

(1) o Gigpa) @ p(ho) ~~
(3) ¥ (ganifla) (4) « (alpha)
Con-idud’, m;.
function of medullary hormones
A h lary constriction
B Itis a hyperglycemic hormone
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129 ':'*Tm:'::’:"“’ 133 Given below are (wo statements &1 ‘(‘\
(1) W= Statement | ; Fig fruit is a agn-vegetarian fruit
Bl """""""ﬁ:cu A\ as it has enclosed fig wasps in it. /
(1) Phenylalanine & Arginine Statement 11 : Fgmwﬂ'meﬂ!!bﬂ
&) lvm.% Q’ M-lnlumdnpuﬁ‘"mpknﬂu
v life cycle in fig fruit antd fig fruit gets
ReadY v 3 pollinated by fig wasp.  *
1o :-‘:\Y Hmm In the light of the above statements, choose the
produce myy
wxduace wrinkled gréon seeds, what will be the :::;;,"';:""""”“’m“”m
phenotypic ratio of the F2 generation? (1 Boﬂtmmmlmdpnmcmll
1)) Mpkrm’w! 1 are incorrect
@) Phenotypic ratig>9:3:3:1 ¥ @) s«mmlhmw.mmll
&)} Mpcmﬁ') 7-’: / is incorrect 0
) Wuuel 3 mlkmﬂumu
is correct
131 Which of the fol m.em (&) Both statement | and jptement Il
from the pituitary 1 synthesized in the are correct ,
hypothalamus ? v, ,\G&p b
(1) Anti-diurctic hormone (ADH) 134 Sweet potato and potato vae-h
(2) Follicle-stimulagipg hormone (FSH) type of evolution.
(1) Adenocorticotrgphic hormone (ACTH) 2 ““”‘#‘0 1
4) Luscinizing (LH) Homology. |
. g @ m--s% W |
132 Given below are tw statements : one is £3). Amlogs,
whelled as Assertion (A) and the other is (4) Analogy, ¢ |
Ltelied a0 Reason v |
Assertion (A) : All vercbrates are chordates 138 Which of the
bt sl chordates are not vericbrate. |~ involved in the
l-n(!):‘l‘h”lofubphytu.
vertebrata during the
by pered. is replaced by
1 cartilaginous of wertebral column in
bty ,
in the light of the ob staterments. choose the
i Both A and R 5 e but R is not the
correet explanation of A

@ A is true but R is false
(3 A s fulse but R is true

& “tdlnuunb
of A

© Faghen |
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130 identify Yhe part of a bio-reactor which is used

as a foamt braker from the given figure.

4

L =3

- ® : :
. o't 140 Muclizl:is-:lﬁmm o i
®) Ci8 @ A ‘(ﬂ}/ A. Centromért . Mitochondrion’

e L B. Cilium ﬁ Il. Cell division
Name &chn of enzyme that usually catalyze g ge' "’::*&"c :l\l’ % Ovem
the follewing reaction : : = ’ Bilayer

8-G+8" 5 S+8'-G

Whereods — a group other than hydrogen
s}-..m

(2) Transferase P
(4) Hydrolase T

Match List I with List I :

List 1 List 11
Chiprophyll 8 1. Yellow-green 2
Cligrophyll b 11 Yellow
Xanghophylls 11, Blue-green
Calfponcids IV, Yellow to

@0 Yellow -orange
(_**#“‘“m
(1) AL B4, C-L DAV b

2 Ad B CAV, DA

) A4 BaV, C4AB. DI

(4) AN, BV, CAL DA

N B

cNne >

141

g
o, (1) B, E.ACD
,\v (3) D, E, AH C

.

139 The comect -q.'muc of events in the lit.m

of bryophytes«s

A. Fusion of bntherozoid with cgg. _ 63
B. Attachment of gametophyte to @
C. Reductid division to produce :
D. Fonmﬁgo( sporophyte. :
E. Release gfiantherozoids into water, @ _
Choose the correct answer from the optign,
given below & v o
@ B.EADC
(4) D,E,A,C, B ‘

(1) Al B-iC-v, D-m 4
() A-IV, BAL -1, D-1
(3) A-IL, B-fii! C-1. D-Iv v
4) A-l, B-OI&-HL D-IV

—
Find the corréél statements :
A. In human'pregnancy, the major organ
systems™Are formed at the end
12 weeks. A
In human pregnancy the major
m.wuhuﬂdl

LI et
humanJpregnancy

In y, limbs and

) B, C, D and E Only Ll
) A C.Dand EOnlyv ()
“) A and E Only N

\



/" J}/_//f d/
(/ WA )

"’ ] :h .-':M ‘0"'{7“'"8 \'hlflflcﬂﬂics mm\cn' "5 “h-'“ s “K mum of '"h(’lhl“(.c for r,,l\ !.’C‘““
- ’;nl";“ wn proposed by Whittaker. Arrange trait?
the following in increasing order .4 /
of body ‘mmfﬂm, e N SO (1) Non-mendelian inheritance patierm / ‘L
Y / 2 Y
A Multicellulgrheterotrophs with cell wall <) .‘\utnq;!!al dominant pattern P v /
made of chitih. J (3) X—link,dymcc&'ei\c inheritance paticrn 4
B Heterotrophs with tissue/organ/organ (4) Mendc!})ﬁw inheritance pattern ' Y//‘}
system levglof body organization. # e ¥ ,\'v,/’
( Prokaryotesi with cell wall made of | 146 Which of Whe following are the posts
polysaccharides and amino acids. lrnmcriptimrﬁj svents in an cukaryotic cell? }
AN
D. Eukaryotic autotrophs with tissue/organ A. Transport of pre-mRNA to cytoplasm
level of body organization. ’ ’dn prior to splicing.
E. Eukaryotes W ith cellular body B. Removal of introns and joining of exons
OrEamMZEtIon. y v C. AdditioW of methyl group at 5' end of
Choose the corrast answer from the options 4 hnRN/ﬁ
given below : ~N . ? ’ 3 end of
« B D. Addit f adenine residues at
(1) C.E.A.D.¥ @) A.C.E. D, B Y% ; MRN""‘PM
B 4 e
3) C.EA, B;% @) A, CEB.D ‘_\(2 £ Base dalring of two complementary
oA RNAS. 4 7
143 Which arc correer-! ; Choose the edrrect answer from the options
A. Computed tomography and magnetic given below :
resonance imaging detect cancers of (1) B, C, D oaly @) B, C. E only
internal Organs. v A, B, C onl
B ics drugs are used to kill @) C.D.Rpaly @ ’
non-cancerdis cells. ) :
C. o -inerf ivate the cancer patients’ | 147 Which oncgef the roll.o.wm'g phy‘?lux'::(“‘
" ammune SY and helps in destroying s nagiient mobilization which . ps o
— <0 the delay of*‘.f senescence in plants: =
D LMWic drugs are biological 1) Absci acid () Gibbercllin
resSponse modificrs. (3) Cytokipih 9) Ethylene /
E h“asofwhbladccllwwus 4
arc .- 1 ] the following statements refers
148 Which one
ons 1 p
(W*ﬂ!‘"‘”‘“""’""‘”’" to Reduct Biology?
ven bolow: ) L h
i e (2) C and D only (1) Physidfdgical approach 1o study and
(any D : onliyl el u.,,.ﬁduvuw.
: 4)
3 A "(‘ﬂw (2) Chemjcp! :ppmach 10 study and .
: undersiipd living . :
huch of the fosbieot i0E genctially cngincered organisms
ly“ gamr was abd by Eli Lilly to prepare (R} m"l .-ppruach to study and
g P 4 living organisms o
; 2) Vi A (4) Physico-chemical
4 i ) mical approach 1o study and
understand living organisms.

:i: :‘: i{4) Bacterium
E r - q}}/ | Contd...
/




4% Niatch List - | with List - 1.

List - | List - 11
\ Emphysema | Rapid spasms in muscle
due 0 low Ca** in
body fluid
R Angina le#Damaged alveolar
Pectoris f; “walls and decreased
. }'c!plnlnry surface
C. Glomerulo- lénAm chest pain when
ncphritis Mot enough oxygen
s reaching to heart
““muscle
D. Tetany 1V, inflammation of
glomeruli of kidney
Choose the correct answer from the options
given below : -

(1) A4IL B, C4 v
(2) AL BAV,. CAlLDa ¥+
(3) A-L BN CINLD v

(4) A-N, B4, C-IV-D-11
¥ o

150  Epiphyics that are ing on a mango branch
is an example of w of the following?
(1) Mutualism

) Pmbtionﬂ\/
(3) Amensalism <“%4) Commensalism

r e ebiy
151 Match List § with e 11 :
List-1 Vo) List-11
A. Alfred Hershey <4 | Streptococcus
and Martha '@ pneumoniae
: rd
Chase -
B. Euchromatin 1. Densely packed
and dark-stained
C. Frederick wr lI. Loosely packed
Griffith - and light-stained
D Mcl-nch_-ﬂ IV. DNA as genetic
O malterial
ol confirmation

grren bebow r

(1) A4V, B CED-m”
(2) AV, B0, C4, DN VY
i5) AAN B CAV, DA
4y AL BAY, C4, DN

“ Fogheh |

152

153

154

N

Which chromosome in the human mh
the highest number of genes?
Chromosome Y §
Chromosgme | ;
(‘hrumﬁnt 10 ;
Chromosgame X
O
;«mul drawbac :.
of the IVF rrglod? g
High fatality risk to mother ./
Expensive instruments and reagents

(1
2)
3)
4)

Not avaiele in India
Possibilitythat the carly does

survive W

() A, C.DFonly
@) A.B,CfPonly X
() A.B,Co&.Fonly K

@) B, D.ng \)(

w



§poen the statements given below choose the

correct optioen

y  The cukaryotic ribosomes are 80S and
prokaryotic ribosomes are 70S.

A Eachn two sub-units.

¢ The two sub-urfits of 80S ribosome are 60S
and 408 while of 708 are 50S and 30S.

n The two sub-units of 80S ribosome are 60S
and 20S and 70S are 50S and 20S.

£ The two sub-units of 80S are 60S and 30S
and that of 7084re S0S and 30S. V.

(1) A.B,D are true X
@) A.B.Eucmﬁ,'/ s
éO

148

3) B.D.Emuﬁ‘f
(4) A, B, C arcuyg P
Vel

Which of the followig is an example of non-
dinilleduloul\olkhs‘ﬁtgcptowbyyun?
(1) Brandy @) Bear
(3) Rum

JJ) Whisky
~

156

Who is known uﬂ father of Ecology in
India? L

(n WMI-G v
(2) Ram Udar

bomnl
(3) Birbal Sshni F
(4) S R Kashysp

-

h
hh“ﬂhmwﬂd
ernd gD | embryo by a protein-
rich lyer called :
(1) Coleorhizs

(2} Imegument
(1) Aleurone leyer

157

SF

116

159

160

76

161

(4) Coleopeile
%V mgheh |

Which of the following statement is correct
about location of the male frog copulatory
pad?
(1) First digit ol‘t’rd
(2) Second digit of fore limb
(3) First digit ofﬁ fore limb #
(4) First and Secepd digit of fore limb

4 e
A specialised mﬁhlnous structure in a
prokaryotic cell which helps in cell wall
formation, DNA replication and respiration is:
(1) Chromatophores
(2) Cristae -p
(3) Endoplasmic #numm
(4) Mesosome g

limb

Givenbelow-ctam:
Statement I : Trapsfer RNAs and ribosomal 7
RNAdonotinletﬁw'lhmRNA.
&mﬂ:mW(M’)nﬁts
place in all organisms as a method :
of cellular defencge. |
mwl@uduﬂnmmm
most from the options
givenbeloW: od
(1) Both Statemet®l and Statement 11

are incorrect *4
(2) Statement | i orrect but Statement 11
is incorrect
Statement | isdacorrect but Statement 11
is correct ™
Both and Statement 11
are correct

v

What is the [ the blood vessel that
carries blood from the body o
the heart in a frog 7
(1) Pulmonary anery ?
@ Pulmonary vein  ~~
() Veracava
(4) Aora

(3)
4
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Luven bolow are two statements
Statement | : In the RNA world, RNA is
commidered the firs i material evolved o
vy oudt eesential processes. RNA acts as
s gemetic materialbWnd also as a catalyst for
PR Y S P wcal reactions in living
wtems Being , RNA is unstable. ./
Statement 11 : DNA evolved from RNA and
s a more stable material. Its double
helical strands being complementary, resist
changes by evolving repairing mechanism. /
In the light of the statements, choose the
most appropriatg-answer from the options
given below : ™)
(1) Both mwmesi and statement 11

arc incorrect v
(2) Statement | &‘gmeu but statement 11

is incorrect 4
(3) Swmtement | is incomrect but statement 1l

15 correct
(4) Both siemes® | and statement 11

are comeat [

™
™~

Which one of the

o -sity

(1) Wildlife Santthary
O Zoas s el o Ve

tal

lea

ing is an example of

~

(31 Protecied ancas
(4) National Pary

Wiich ome of the [0
Haem s the proptet

166 Given below are the stages in the life cycle of

167

pleridophytes. Armange the following stages
the comrect sequence. y

A. Prothallus @ ®

B. Meiosis in spre mother cells

C. Fertilisationl }
D. Formation oferchegonia and antheridia in é -
E. Transfer of am to the archegonia

in presence of water. ,

Choose the correct answer from the options
given below :

a0y BAECH S
@) D,E C,A,
(3) E,D.C.B.& &

(‘) Bs Av Dv Ens \y
-4

Which of followihg
nitrogen?
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169 u.wahebuwmm; L/
sastement | : In a fipral formula @ stands for
sygomorphic re of the flower,
and  stands for ovary.
sustement 11 : In W Noral formula @ stands
for acti nature of the flower
ﬂﬁ“ﬁfquhm. A
1o the light of the above statements, choose the
correct answer from the options given below:
(1) Both StatemeMf and Statement 11
nmg

(2) Statement | is@brrect but Statement 11
is incorrect : <

) Statement | is\icorrect but Statement 1
scomect 'y

) Both Statement | and Statement 11

arc comect
d
™

(ﬁmhelnwueﬁw: 7
MI:WMMW
in an ecosystem encrgy.

4 e
75 @ O
P By ©
171  Whigh of the following diagrams is correct

with regard 10 the proximal (P) and distal (D)
tubule of the
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I Given below are two statements : One is | 177 prlauu dwupmuu of cells refer 1 .

labelied nm (A) and the other is A. A mass of pidliferating cell
13

i
::::‘: (A) ©A typical unfertili d‘/ . - \ "r“"‘
" A typical unfertilised, C Bt ;
angiosperm emBryo sac at maturity is ; u';uc ) o e L

ey ek D. Those confingd to original location

et s » Choose the correet answer from the options
In the light of the abdve statements, choose the given below: .
correct answer from the options given below: (1) A,B,ConlySt 2) A,B,D only
(1) Both A and Rare true but R is NOT the () B.C.D onlyf: (4) A, B only

correct of A ‘rN * &
@) A s trwe but WEs Rulse 178 The complex 11 ¥# mitochondrial electron
(3) A s false butlR is troe transport chain is §fko known as :
(4) Both A and Ree true and R is the correct (1) Succinate »

explanation oféA (2) Cytochrome ebxidase o

v (3) NADH dehydrogenase

Fad e taiioted e 16 NOT Garestivill (4) Cytochrome be, %
regard 1o the structure of monocot stem. hd
(1) Vascular bundles are scattered. 179 Polymnng

) Vuudnrhﬁsmconjommdclond.

3) &Imummm

(4) Hypodermis

v /
Given below are W'Ou
labelled as

labelled as Reason A
Assertion (A) : Both wb‘
4o nat produce nobltar. '
Reason (R) : The

In e
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